@ n= )

2y 5000 48R 4EsE  EuIZ  UMF  IRWl B
=2 MIN MAX
MFN 30% 30%
840 BHEY 0% | 0%
AK 0% 0%
RCEP 24% 24%
270
= |_HS | 0406.90
> = MIN MAX
= 170 MFN 5% 5%
= - SHHIEY | 0% 0%
AK - -
N R
. B oo
2209.00
210111 040690  2209.00 e
HS 6Ete) MFN 20% 20%
oH-HIEH 0% 0%
AK 0% 0%
X HS 6] O[5 &Ml 82 M8 &X RCEP 0% 0%




© = )

SCtAE

©
1o

°E>

deR dEEE HZ=2s  JHEFE Al NS
“hs | oriie
7= MIN MAX
MFN 5% 5%
257480 oh-H| E ' 0% 0%
257478 AK 0% 0%
RCEP : -
= a7 “hs o
. T2 MIN MAX
. MFN 5% 5%
= 282 3 ot-Hi[E 0% 0%
281 AK 0% 0%
§ RCEP : -
i A B e
2711.19 271113 7106.91 ? MIN MAX
MEN 1% 1%
sHEY | 0% 0%
: AK 0% 0%
X HS 6] O[5 &Ml 82 M8 &X RCEP 0% 0%




@ n= )

Sot2E o= Mstez HzuzasA JE 0 HXE7| HHE
o —r Az | Hs | 310530 |
/42| HIE FTA =37 =T MIN MAX
16,859,755.0 MFN 6% 0%
16859755 SHE=H | 0% 0%
AK 0% 0%
RCEP 2.2% 2.2%
~ 633 | HS | 7004.90
; T2 MIN MAX
: - MFN 5% 40%
= 447 : SHHIER | 0% 5%
_ - AK 0% 5%
0~ | Hs | 380891 |
3808.91
3105.30 7004.90 3808.91 e MIN MAX
MFN 0% 6%
HS 60191 sh-HEL | 0% 0%
AK 0% 0%

% HS 6CH2| 0|5 AM| M|E2 HMEE X RCEP 0% 0%




@ o=
shaod SetAE Moo= ASte ==
=sod I'.—?—7|‘=;§ oTTTT oc=o.

Lu oy olN

¥ HS 6He| Ofst MM Mg

I A B

3923.50

4114.20 3917.22

HMEE Ex

HAH 7|

== MIN MAX
MFN 10% 10%
oH-HIEH 0% 0%

AK 0% 0%
RCEP 0% 0%
__HS__ 411420

= MIN MAX
MFN 5% 5%
of-HIEH 0% 0%

AK 0% 0%
RCEP 0% 0%
__HS_ 3017.22

= MIN MAX
MFN 15% 15%
oH-HIEH 0% 0%
AK 0% 0%
RCEP 0% 0%




mu oN ofy

840

400
380
360
340
320

% HS 6TH2| O[5 AFM| M2

5209.32

6205.20

2234 AR EREI EAIE
| HS | 620520
4= MIN MAX
MFN 20% 20%

FHEE 0% 0%
AK 0% 0%
RCEP 0% 0%
| Hs | 551519
= MIN MAX
MFN 12% 12%
SHEE 0% 0%
AK 5% 5%
RCEP 8.8% 8.8%
| Hs | 520932
4= MIN MAX
MEN 12% 12%
SHEE 0% 0%
AK 0% 0%

RCEP 8.8% 8.8%




°E>

©
1o

@==) E&n=)

=2l AA AR =] =1 gkel| e Moo= HMXE7| TH=
__Hs | sanii
- MIN MAX
MFN 20% 20%
3028 gH-H| E ' 0% 0%
AK 5% 5%
RCEP 12% 12%
2710
= [ HS | 94017
o
o 2709 = MIN MAX
. MFN 25% 25%
= s sHHIEE | 0% 0%
AK 0% 0%
RCEP 15% 15%
0 | HS | 950639
: 9506.39
842211 9401.71 9506.39 T MIN MAX
HS 6EEe) _ MFN 5% 5%
et-H| E ' 0% 0%
g AK 0% 0%
X HS 6] O[5 &Ml 82 M8 &X RCEP 0% 0%




© = )

SCtAE

st304 Moo=
ToHd aOTTrTr

e

3330 -

310 —

240 —
230 —

M B N

7305.11 7307.29 7326.19

M o¥ of

% HS 6CH2| 0|5 AM| M|E2 HMEE X

HAH7

+= MIN MAX
MFN 5% 5%
SHHIEH 0% 0%

AK 0% 0%
RCEP 0% 0%
ks 702

= MIN MAX
MFN 5% 5%
SHEE 0% 0%

AK 0% 0%
RCEP 0% 0%
I

= MIN MAX
MFEN 10% 10%
SHEE 0% 0%
AK 0% 0%
RCEP 6% 6%




°E>

AL HNE

©
1o

@ n= )

SCtAE
e

62229
62228

2780

mu oN ofy

1074
1073

9010.50

% HS 6TH2| O[5 AFM| M2

8708.10

HMEE Ex

8481.40

MIN

MAX

5%

0%

0%

RCEP

0%

“hs | er0si0 |

=
e

MIN

MAX

MFN

15%

25%

3h-H| = et

0%

5%

AK

0%

5%

RCEP

1%

12%

“hs a0 |

MIN

MAX

5%

5%

0%

0%

0%

0%

0%

0%




@==) E&n=)

Zapag
2915

3761
3760

RCEP

°E>

MIN
5%
0%
0%
0%

HRE| HHZE

s eamo0

MAX
15%
0%
0%
0%

1613
1612

e
MFN
3=t
AK
RCEP

M o¥ of

495

MIN
10%
0%
0%
0%

“Hs | ssozi2

MAX
10%
0%
0%
0%

8423.90 8502.12 8521.90 BT
HS 6ELS) MFN

F-H| E Lt
% HS 6CH2| 0|5 AM| M|E2 HMEE X RCEP

ol

r

AK

MIN
10%
0%
0%
6%

“Hs_ | esaie0

MAX
35%
0%
5%
35%




